Name:_____________________________________________________ 			Date:___________
Class:________________							6th Unit 2: Ratios & Proportions MQ 2 M
Learning Targets: 
I can find the percent of a quantity.
I can find the percent given the part and the total quantity.

Mastery Scoring Sheet


Overall score: __________/9		____________%

Learning Target 4: I can find the percent of a quantity
Questions: 1, 3, 5

Score: ___________/ 3		Circle:			Met		Did not meet


Learning Target 5: I can find the percent given the part and the total quantity.
Questions: 2, 4, 6

Score: ___________/ 3		Circle:			Met		Did not meet


Short response question: (3 pt. rubric)

Score: ___________/ 3
Correct	 = 3 pts.		Partially Correct = 1 OR 2 pts.		Incorrect = 0 pts.	

Notes:





















Learning Targets: 
I can find the percent of a quantity.
I can find the percent given the part and the total quantity.

________ 1. What is 32% of 60?
A.  	19.2	  		B.  15 				C.  30	 			D.  28

________ 2.During a basketball game, Jorell successfully made 30 out of 40 shots in the basket.  What percent of his shots did Jorell make in the basket?
A. 75% 			B. 50%			C. 42%			D. 48%

________ 3. The library surveyed 180 people about their favorite type of movie. 45% of the people chose action. How many people chose action?
A. 81 people    		B. 45 people    		C. 72 people    		D. 90 people

_______ 4. Beth is planning to bake 150 cupcakes for a bake sale. Currently, she has baked 12 cupcakes. What percent of her goal has she made?
A. 12% 			B. 6%				C. 8%				D. 14%

________ 5. The original price of a pair of jeans is $32.00. The discount is 15% off the original price. What is the amount of the discount?
A. $1.75	 		B. $4.80	 		C. $5.25		 	D. $27.20

________ 6. In a load of laundry, 18 out of 24 of the socks are white. What percent of the socks are white?
A. 75%	 		B. 25%			C. 65% 			D. 85%


7. Jeff is saving to buy a new bicycle.  After his birthday party, he finally has $150.00 to go shopping.  At the bike store he sees there is a 30% off sale.  The original price of a bicycle is $125.00. There is a 30% discount off the original price. What is the sale price of the bicycle?
Show your work:









Answer:________________________________
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